2,0

18

16

14

1,0

08 =

Torque [Nm]

06

04
02
0,0

0 500 1000 1500 2000 2500 3000

Speed [rpm]

TETRA COMPACT-X 60 1,3 15
A

3500 4000 4500

5000

5500

36

w \

28 \

24 1o

20 N\

16

12

Torque [Nm]
I
|
|
|

08

04

_____ S —

N\

0,0
0 500 1000 1500 2000 2500 3000

Speed [rpm]

3500 4000 4500

5000

5500

COstarting [Nm]
o

—— -40°C = +80°C|

1 10 100
‘Time [ms]

VIOTOR
POWER

COMPANY

1000

10000

16

40
36
32
28
24
20
16

Torque [Nm]

08

04

00

0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000 5500

Speed [rpm]

TETRA COMPACT-X 60 1,3 No LOAD STARTING
B

—— 40°C — +80°C

O starting [Nm]

1 10 100 1000 10000
Time [ms]

Continuous duty@ 0 + +40°C

- o e» o Continuous duty @ -40°C
@omomm e wmem oo Continuous duty @ +80°C
- ea» o> - 24 Vdc
- s o= e 48Vdc
- ¢ e» o 230 Vac
e o enmmms o o 400 Vac



